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Maximum : 100 marks 

Time : 2 hours 

1. An increment shall be granted from –––––––––––––– day of the month in which it falls due. 

(A) Last day (B) First day 

(C) In the day of first entry in services (D) None of these  

WOa]-ê]W vqOÐ oLy-¾]Rs —————— h]vyU oOf¤ KqO C¢NW]Ro£V AjO-v-h]-¨OU.   

(A) Av-yLj h]v-yU (B) Bh| h]v-yU 

(C) y¡vÿ}-yO-W-t]Rs Bh|NkSvwj h]v-yU (D) Cv-RpL-ÐO-o-sæ 

2. Which one of the following is not come under General Revenues? 

(A) Debt Account (B) Public Account 

(C) Consolidated Account (D) Contingency Fund 

RkLfO-v-qO-oL-j¾]R£ W}u]¤ vqL-¾fV fLRu-Õ-r-pO-Ð-vp]¤ JfL-eV? 

(A) RcãV A¨TºV (B) kmæ]WV A¨TºV 

(C) W¦-SyL-t]-Sc-ãcV A¨TºV (D)  Wº]^¢y] lºV 

3. An allowance granted to an officer on tour to meet out of packet expenses in connection with 
journey is termed as : 

(A) Mileage Allowance (B) Uniform Allowance 

(C) Incidental expense (D) Daily Allowance 

pLNf-pO-oLp] mÌ-RÕŸV kL¨ãV R\s-vOW¥¨Lp] KqO DSh|L-Y-òjV j¤WOÐ  

Asv¢y]-Rj v]t]-¨O-ÐfV : 

(A) RRoSs^V Asv¢yV (B) pPe]SlLU Asv¢yV 

(C) BW-yÜ]W \]svV (D) RRhjU-h]j Asv¢yV 
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4. Which one of the following is not come under public conveyance? 

(A) Train (B) Steamer 

(C) Departmental Vehicle (D) Bus 

 RkLfO-Y-fL-Y-f-¾]jV  W}u]¤ vqL-¾fV fLRu-Õ-r-pO-Ð-vp]¤ JfL-eV? 

(A) RNap]¢ (B) ð}o¡ 

(C) c]ÕL¡ŸVRo£V vLz-jU (D) môV 

5. Which one of the following rules can not be applied for fixation of pay of Government 
Servants? 

(A) R.20 (B) R.28 

(C) R.28A (D) R.30 

 -fL-Ru-Õ-r-pOÐ j]p-o-°t]¤ JfLeV y¡¨L¡ ^}v-j-¨L-qORa wÒtU j]é-p]-¨O-Ð-f]jV 

NkSpL-Y]¨L¢ Wu]-pL-¾-fV? 

(A) rP¥ 20 (B) rP¥ 28 

(C) rP¥ 28A (D) rP¥ 30 

6. Kerala Service Rules came into force with effect from which one of the following dates? 

(A) 01.01.1959 (B) 14.11.1959 

(C) 01.11.1956 (D) 10.11.1959 

 SWqt y¡vÿ}yV j]p-o°¥ NkLm-s|¾]¤ vÐ-fV  fLRu-Õ-r-pOÐ JfV f}á-f]-p]-sL-eV? 

(A) 01.01.1959 (B) 14.11.1959 

(C) 01.11.1956 (D) 10.11.1959 

7. Dies non period will not count for which one of the following? 

(A) Increment (B) Half pay leave 

(C) Time Bound Higher Grade (D) Probation  

 cpyV SjL¦  WLs¾]¤ fLRu-Õ-r-pO-Ð-vp]¤ JfLeV We-¨L-¨L-¾-fV? 

(A) C¢NW]Ro£V (B) zLlV Sk s}vV 

(C) yop mÌ]f Dp¡Ð SNYcV (D) RNkLSmx¢ 
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8. New recruitees shall produce a form of SPARK in form number :  

(A) 12 (B) 15 
(C) 11 (D) 17 

 kOf]p r]NWP-ŸVRo£V  SlLU jÒr]¤ SPARK&R£ SlLU —————— zL^-qL-¨-eU.  

(A) 12 (B) 15 
(C) 11 (D) 17 

9. State Life Insurance was introduced in which of the following dates? 

(A) 19.08.1976 (B) 31.07.1976 
(C) 10.08.1976 (D) 10.07.1976 

 fLRu-Õ-r-pOÐ f}á-f]-Wt]¤ JfLeV SðãV RRslV C¢x|Pr¢yV Av-f-q]-Õ]-\ÿ-fV?  

(A) 19.08.1976 (B) 31.07.1976 
(C) 10.08.1976 (D) 10.07.1976 

10. An officer drawing a basic pay of Rs. 25,200 in the scale of pay 16500 – 500 – 20000 – 550 – 
22200 – 600 – 25200 – 650 – 27800 – 700 – 29900 – 800 – 33900 – 900 – 35770 on 01.06.2017 
was ordered to bar one increment on 01.10.2017 for a period of one year without cumulative 
effect. Regulate his increment on 01.06.2020 : 

(A) Rs. 26,500 (B) Rs. 27,800 
(C) Rs. 27,150 (D) None of these 

 KqO DSh|L-YòR£ Aa]-òL-j-w-ÒtU 25,200 qPk. 01.06.2017 Rs wÒtRØp]¤ 16500 – 500 
– 20000 – 550 – 22200 – 600 – 25200 – 650 – 27800 – 700 – 29900 – 800 – 33900 – 900 – 
35770 BeV  01.10.2017  jV KqO  v¡xS¾¨V W|OoOSsã}vV ClWVãV CsæLRf KqO C¢NW]Ro£V 
fapL¢ D¾qv]ŸO.  01.06.2020 & ¤ ASÇz¾]R£ C¢NW]Ro£V We¨L¨OW  : 

(A) qP. 26,500 (B) qP. 27,800 

(C) qP. 27,150 (D) Cv-RpL-ÐO-o-sæ 

11. Who is competent to accept resignation of a Government Servant? 

(A) Head of office (B) Any Gazetted officer 
(C) Drawing Officer (D) Appointing authority 

 KqO y¡¨L¡ DSh|L-YòR£ qL^] y~}W-q]¨L¢ BqLeV SpLY|¢?  

(A) KLl}yV SoiL-v] (B) JRf-Ë]sOU Yy-ãcV  KLl}y¡ 

(C) SNcLp]UYV KLl}y¡ (D) j]p-oj ASfL-r]-ã] 
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12. Every –––––––––––––– days late attendance without permission lead to forfeit a days  
casual leave from the account of the officer. 

(A) Two (B) Three 
(C) Five (D) None of these 

 AjO-o-f]-p]-sæLRf RRvW]-pOç zL^¡ KLSqL ———— h]v-yvOU DSh|L-YòR£ 

A¨Tº]¤ j]ÐV WLx~¤ s}vV jì-RÕaL¢ WLq-e-oL-WO-ÐO 

(A) qºV (B) oPÐV 

(C) AμV (D) Cv-RpL-ÐO-o-sæ 

13. The monthly subscription towards General Provident Fund is minimum –––––––––––––– 
percentage of the basic pay. 

(A) Three (B) Five 
(C) Six (D) One 

 ^jr¤ RNkLv]c£V lº]-Ss-¨Oç Nkf]-oLy ymVNØ]kVx¢ Aa]-òL-j-w-Ò-t¾]R£  

o]j]oU  —————    wf-oL-j-oL-eV. 

(A) oPÐV (B) AμV 

(C) BrV (D) KÐV 

14. Group Insurance Scheme was introduced in which of the following dates? 

(A) 01.09.1984 (B) 01.09.1983 
(C) 10.09.1984 (D) 10.09.1983 

 fLRu-Õ-r-pOÐ f}á-f]-Wt]¤ JfV h]v-y-oLeV NYPÕV C¢x|Pr¢yV Ø}U Av-f-q]-Õ]-\ÿ-fV? 

(A) 01.09.1984 (B) 01.09.1983 
(C) 10.09.1984 (D) 10.09.1983 

15. The monthly allowance drawing by an apprentice is termed as : 

(A) Salary (B) Wages 
(C) Sitting fee (D) Stipend 

 KqO ANk£}yV IaO-¨OÐ Nkf]-oLy Asv¢y]Rj  —————  IÐO krpOÐO. 

(A) wÒ-tU (B) Svf-jU 

(C) y]ã]UYV l}yV (D) RRðÕ£V 
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16. For part time contingent employees, maximum stagnation increment is : 

(A) Two (B) Three 
(C) One (D) Numerous  

 kL¡ŸVRRaU ^}v-j-¨L-qORa kq-oL-vi] ðLS®x¢ C¢NW]Ro£V : 

(A) qºV (B) oPÐV 
(C) KÐV (D) j]q-v-i]  

17. Which one of the following service does not count for increment? 

(A) Joining time period  
(B) Period of deputation 
(C) Suspension period not treated as duty 
(D) Diesnon 

 fLRu-Õ-r-pOÐ Syv-j-°t]¤ JfLeV C¢NW]Ro£Lp] We-¨L-¨L-¾-fV? 

(A) S\qOÐ WLs-U  
(B) Rck|P-SŸx¢ WLsU 
(C) c|PŸ]-pLp] We-¨L-¨L¾ yRy×¢x¢ WLs-U 
(D) RRcSyÔL-¦ 

18. Calculate the earned leave admissible to a staff of vacation department who performed 
vacation duty for 20 days : 

(A) Ten days (B) Eight days 
(C) Five days (D) One day 

 20 h]vyU Av-i]-¨Ls c|PŸ] R\pÅ Av-i]-¨Ls vWO-Õ]Rs ^}v-j¨L¡¨V  
AjOv-h-j}-p-oLp vqO-oLjU  : 

(A) k¾O h]v-yU (B) IŸV h]v-yU 
(C) AμV h]v-yU (D) KqO h]v-yU 

19. Which one of the following is not an eligible leave? 

(A) Earned leave (B) Half pay leave 
(C) Commuted leave (D) Casual leave 

 fLRu-Õ-r-pO-Ð-vp]¤ JfL-eV A¡z-oLp Avi] AsæL-¾-fV? 

(A) J¦cV s}vV (B) zLlV Sk s}vV 
(C) WÚ|P-ŸcV s}vV (D) WLx~¤ s}vV 
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20. Calculate the Half pay leave at credit of an officer as on 10.10.2021 who entered in service on 
08.12.2015 : 

(A) 100 days (B) 90 days 
(C) 80 days (D) None of these 

 08.12.2015  jV y¡vÿ}y]¤ NkSv-w]\ÿ KqO DSh|LYòR£  10.10.2021 Rs zLlV Sk Avi] 
We-¨L-¨O-W : 

(A) 100 h]v-yU (B) 90 h]v-yU 
(C) 80 h]v-yU (D) Cv-RpL-ÐO-o-sæ 

21. The total duration of vacation and earned leave taken together shall not exceed  
–––––––––––––– days at a time. 

(A) 200 (B) 180 
(C) 90 (D) 60 

 BRW-pOç Av-i]-¨L-svOU J¦cV s}vOU KqO-o]\ÿV IaO-¨OÐ WLs-p-tvV  
——————  h]v-y¾]¤ Wv]pL¢ kLa]-sæ. 

(A) 200 (B) 180 
(C) 90 (D) 60  

22. How many earned leave can be surrendered for the year 16.06.2004 by a state Government 
employee? 

(A) 45 (B) 30 
(C) 25 (D) 20 

 KqO yUòLj y¡¨L¡ ^}v-j-¨L-qjV  16.06.2004 v¡x¾]¤ INf J¦cV  s}vV yrº¡ 
R\áL¢ Wu]-pOU? 

(A) 45 (B) 30 
(C) 25 (D) 20 

23. Those who occupy Government quarters are not eligible for –––––––––––––– along with 
surrender leave salary. 

(A) HRA (B) CCA 
(C) DA (D) TA 

 y¡¨L¡ W~L¡SŸuõV RRWv-w-oO-çv¡¨V yrº¡ s}vV wÒ-t-S¾L-RaLÕU —————— jV 
A¡z-f-p]-sæ. 

(A) I\ÿV B¡ I (B) y] y] I 

(C) c] I (D) a] I 
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24. Child adoption leave to female State Government employees is eligible upto a maximum 
period of : 

(A) 60 days (B) 90 days 
(C) 135 days (D) 180 days 

 yUòLj y¡¨L¡ Nñ}^}v-j¨L¡¨Oç w]wO hR¾-aO¨¤ Avi]¨Oç kqoLvi] WLsU 
————— h]vyoLeV.  

(A) 60 h]v-yU (B) 90 h]v-yU 
(C) 135 h]v-yU (D) 180 h]v-yU 

25. The leave admissible for Tuberculosis / Leprosy / Cancer / Mental diseases will be upto a 
maximum period of –––––––––––––– for a permanent employees.  

(A) 18 months (B) 36 months 
(C) 18 weeks (D) 36 weeks 

 KqO ò]qU ^}v-j-¨L-qjV ƒp-SqL-YU/WOxVbU/W|L¢y¡/oLj-y]W SqLY°¥ IÐ]-vàV 
Aj-Ov-h-j}-p-oLp kq-oL-vi] Avi] ————— Bp]-q]-¨OU.  

(A) 18 oLyU (B) 36 oLyU 
(C) 18 BuV-\ (D) 36 BuV-\ 

26. The minimum period of special disability leave is limited to how many months? 

(A) 24 (B) 20 
(C) 30 (D) 18 

 Ry×x|¤ c]Ry-m]-s]ã] s}v]R£ JãvOU WOr´ WLs-p-tvV INf oLy-oLp]  kq]-o]-f-RÕ-aO-
¾]-p]-q]-¨O-ÐO? 

(A) 24 (B) 20 
(C) 30 (D) 18 

27. The total period of absence from duty while on casual leave with holidays shall not exceed  
–––––––––––––– days at a stretch. 

(A) 10 (B) 20 
(C) 5 (D) 15 

 Avi] h]v-y-°-StL-RaLÕU WLx~¤ s}v]-sL-p]-q]-¨OSÒL¥ c|PŸ]p]¤ j]ÐV v]ŸOj]¤¨OÐ 
RoL¾U WLs-p-tvV fOa¡\ÿpLp] ——————  h]v-y-°-t]¤ WPaL¢ kLa]-sæ. 

(A) 10 (B) 20 
(C) 5 (D) 15 
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28. Maximum limit for terminal surrender of earned leave at the time of retirement is : 

(A) 120 days (B) 240 days 
(C) 300 days (D) 400 days 

 r]Ÿp¡Ro£V yo-p¾V J¦cV s}vV yrº¡ R\áO-Ð-f]-jOç kq-oL-vi] kq]-i] : 

(A) 120 h]v-yU (B) 240 h]v-yU 

(C) 300 h]v-yU (D) 400 h]v-yU 

29. The period of probation of a Government employee in non–vacation department who had 
joined service on 01.01.2021 was declared to have been completed satisfactorily with effect 
from 01.01.2023 FN. He had availed HPL for 20 days with effect from 01.01.2023 and LWA 
on Medical Certificate for 20 days with effect from 01.04.2023. Calculate his Earned leave 
account on 01.05.2023 : 

(A) 
11
2

57  (B) 
11
6

57  

(C) 
11
2

56  (D) 
11
6

56   

 01.01.2021 ¤ y¡vÿ}y]¤ S\¡Ð SjL¦ RvS¨x¢ vWOÕ]Rs KqO y¡¨L¡ 
^}vj¨LqR£ RNkLSmx¢ WLsptvV 01.01.2023 FN ¤ fQkÅ]WqoLp] 
kP¡¾]pL¨]pfLp] NkX|Lk]\ÿO. 01.01.2023 ¤ 20 h]vyS¾¨V I\ÿV.k].I¤. DU,  
01.04.2023 ¤ 20 h]vyS¾¨V Roc]¨¤ y¡Ÿ]l]¨ã]¤ I¤.cmæ|O.I.pOU Sja]. 
01.05.2023 ¤ AvR£ J¦cV s}vV A¨TºV We¨L¨OW : 

(A) 
11
2

57  (B) 
11
6

57  

(C) 
11
2

56  (D) 
11
6

56  

30. Who is authorized to sanction LWA exceeding 180 days at a time? 

(A) Head of Office (B) Head of Department 
(C) Accountant General  (D) The Government 

 KSq yop¾V 180 h]v-y¾]¤ WPaOf¤ I¤cmæ|OI AjO-v-h]¨L¢ Ai]-WL-q-oO-çfV 
B¡¨L-eV?  

(A) KLl}yV fsv¢ (B) vWOÕO fsv¢ 

(C) A¨Tº£V ^jr¤ (D) y¡¨L¡ 
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31. Probation period of Last Grade Employees are how many years? 

(A) One (B) Two 
(C) Three (D) No Limit 

 Av-yLj SNYcV ^}v-j-¨L-qORa  RNkLSmx¢ WLs-U INf v¡x-oL-eV? 

(A) KÐV (B) qºV 
(C) oPÐV (D) kq]-i]-p]-sæ 

32. An office attendant entered into service on the FN of 01.08.2020 in the scale of pay of  
Rs. 23,000 – 700 – 27,900 – 800 – 31,100 – 900 – 38,300 – 1,000 – 42,300 – 1,100 – 47,800 – 
1,200 – 50,200. If his probation was declared with effect from 01.08.2021, regulate his third 
increment with pay : 

(A) Rs. 23,700 (B) Rs. 24,400 
(C) Rs. 25,100 (D) Rs. 23,000 

 23,000 – 700 – 27,900 – 800 – 31,100 – 900 – 38,300 – 1,000 – 42,300 – 1,100 – 47,800 – 1,200 
– 50,200 IÐ wÒtRØp]s]¤  KqO KLl}yV Aã££V 01.08.2020  FN ¤ y¡vÿ}y]¤ 
NkSvw]\ÿO. 01.08.2021 oOf¤ ASÇz¾]R£ RNkLSmx¢ NkX|Lk]\ÿ]ŸORºË]¤ 
ASÇz¾]R£  oPÐLoR¾ C¢NW]Ro£VV wÒtU  : 

(A) qP. 23,700 (B) qP. 24,400 
(C) qP. 25,100 (D) qP. 23,000 

33. In the case of leave preparatory to retirement, the maximum earned leave that can be availed 
is –––––––––––––– days. 

(A) 240 (B) 300 
(C) 120 (D) 380 

 v]q-o]-¨-s]-jOç fáL-Rr-aO-Õ]-jOç Av-i]-pORa WLq|¾]¤, kq-oL-vi] J¦cV   s}vV  
—————— h]v-y-°-tL-eV. 

(A) 240 (B) 300 
(C) 120 (D) 380 

34. HRA and CCA are eligible for –––––––––––––– months only if availed commuted leave 
continuously more than six months. 

(A) Two (B) Three 
(C) Four (D) Six 

 BrO oLy¾]¤ WPaOf¤ fOa¡\ÿ-pLp] WÚ|P-ŸcV s}vV sn]\ÿL¤ oLNfSo I\ÿVB¡IàOU 
y]y]IàOU  —————— oLy°¥¨V A¡z-f-pO-çP. 

(A) qºV (B) oPÐV 
(C) jLsV (D) BrV  
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35. How many days of leave not due that can be sanctioned in entire service of a Government 
Servant? 

(A) 360 (B) 300 
(C) 240 (D) 120 

 KqO y¡¨L¡ DSh|L-YòR£ oOuOv¢ y¡vÿ}y]sOU INf h]v-yR¾ Avi] AjO-v-h]-¨LU? 

(A) 360 (B) 300 
(C) 240 (D) 120 

36. Which appendix of the following is sanctioned so as to join spouse? 

(A) XII A (B) XII B 
(C) XII C (D) XII D 

 kËL-t]p]¤ S\qO-Ð-f]-jLp] fLRu-Õ-r-pO-Ð-vp]¤ JfV AjO-m-Ì-oLeV AjO-v-h]-\ÿ]-q]-¨O-

Ð-fV? 

(A) XII I (B) XII m] 

(C) XII y] (D) XII c] 

37. LWA for –––––––––––––– days in continuation of maternity leave do not require medical 
certificate. 

(A) 10 (B) 20 
(C) 40 (D) 60 

 Nky-vL-vi] fOa-qOÐ ————— h]v-y-°-t]Rs I¤.cmæ|O.I.àV Roc]¨¤  

y¡Ÿ]-l]-¨ãV Bv-w|-o]-sæ. 

(A) 10 (B) 20 
(C) 40 (D) 60 

38. How many days are admissible for miscarriage to female employees? 

(A) 20  (B) 42 
(C) 30  (D) 15 

 Nñ} ^}v-j¨L¡¨V  Y¡nU As-y-s]-jVV  INf h]vyU AjO-vhj}poLeV? 

(A) 20 (B) 42 
(C) 30 (D) 15 
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39. Master Scale was introduced in which of the following dates? 

(A) 01.07.2003 (B) 01.01.2004  

(C) 01.01.2003 (D) 01.07.2004 

 fLRu-Õ-r-pOÐ f}á-f]-Wt]¤ JfLeV oLð¡ RØp]¤ Av-f-q]-Õ]-\ÿ-fV?  

(A) 01.07.2003 (B) 01.01.2004 

(C) 01.01.2003 (D) 01.07.2004 

40. Mr. ‘X’ is drawing a basic pay of Rs. 1,32,100 in the scale of pay 107800 – 2500 – 115300 – 
2800 – 140500 – 3100 – 149800 – 3400 – 160000 on 01.05.2021 is promoted substantively on 
01.08.2021 in the scale of pay 118100 – 2800 – 140500 – 3100 – 149800 – 3400 – 163400. Fix 
his pay in the promoted post and work out his next increment on 01.08.2021 : 

(A) Rs. 1,32,100 (B) Rs. 1,34,900 

(C) Rs. 1,37,700 (D) Rs. 1,40,500 

 o]ð¡ ‘X’  R£ Aa]òLj wÒtU  1,32,100 qPk. wÒt RØp]¤  01.05.2021 jV 107800 – 2500 

– 115300 – 2800 – 140500 – 3100 – 149800 – 3400 – 160000 BeV. 01.08.2021 jV  

118100 – 2800 – 140500 – 3100 – 149800 – 3400 – 163400 IÐ wÒ-t-RØp]s]¤ NkSoLŸV 

R\áOÐO. òLjWpãU sn]\ÿ fñ]Wp]¤ ASÇz¾]R£ wÒtU j]é-p]-¨O-WpOU 

01.08.2021 jV AaO¾ C¢NW]Ro£V We-¨L-¨O-WpOU R\áO-W  : 

(A) qP. 1,32,100 (B) qP. 1,34,900 

(C) qP. 1,37,700 (D) qP. 1,40,500 

41. Provisional service upto –––––––––––––– is counted for sanctioning increment. 

(A) 30.09.1994 (B) 25.09.1994 

(C) 01.10.1994 (D) 30.10.1994 

 C¢NW]Ro£V AjO-v-h]-¨O-Ð-f]jV   –––––––––––––– vRq-pOç fL¤¨L-s]W SyvjU We-

¨L-¨O-ÐO. 

(A) 30.09.1994 (B) 25.09.1994 

(C) 01.10.1994 (D) 30.10.1994 
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42. From which date onwards the Time Bound Higher Grade can be granted as and when it fell 
due : 

(A) 01.02.2016 (B) 10.02.2016 
(C) 01.07.2016 (D) 01.07.2017 

 JfV f}áf] oOf¤ yo-p-m-Ì]-f- Dp¡Ð SNYcV j¤WLU? 

(A) 01.02.2016 (B) 10.02.2016 
(C) 01.07.2016 (D) 01.07.2017 

43. Third time bound higher grade on completion of total –––––––––––––– years of service in the 
entry post and the regular promotion post/time bound higher grade taken together. 

(A) 15 (B) 22 

(C) 25 (D) 27 

 I¢Na] SkLð]Rs RoL¾U ————— v¡xR¾ Syv-jvOU RrYOs¡ NkSoLx¢  

SkLðVV/RRaU mTºV zp¡ RRNYcOU KqO-o]\ÿV kP¡¾]-pL-¨]pL¤ oPÐLU fve Dp¡Ð 

SNYc]-Ss¨V Wa-¨OU. 

(A) 15 (B) 22 

(C) 25 (D) 27 

44. Residence of medical officers should be within –––––––––––––– kms from duty point. 

(A) 20 (B) 15 

(C) 8 (D) 5 

 Roc]¨¤ KLl}y¡oL-qORa fLo-y-òsU c|PŸ] SkLp]£]¤ j]ÐV —————— 

W]SsL-o}ãrOW¥¨Oç]¤ Bp]q]-¨-eU. 

(A) 20 (B) 15 

(C) 8 (D) 5 

45. How many kilometres will travel by an officer by steamer per day as per KSR? 

(A) 150 Kms (B) 200 Kms 

(C) 250 Kms (D) 350 Kms 

 RWI-yVB¡ NkWLqU KqO DSh|L-Yò¢ ð}or]¤ Nkf]-h]jU INf W]SsL-o}ã¡ yμ-q]-¨OU?  

(A) 150 W].o}. (B) 200 W].o}. 

(C) 250 W].o}. (D) 350 W].o}. 
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46. If an officer is transferred and posted within 8 Kms, maximum joining time is –––––––––––– 
day.  

(A) One (B) Two 

(C) Six (D) Seven 

 KqO DSh|L-Y-òRj 8 W]SsL-o}-ã-r]-jOç]¤ òsU oLãO-WpOU SkLðV R\áO-WpOU R\pÅL¤,  

S^Ls]p]¤ S\qL-jO-ç kq-oL-vi] yopU ————— h]v-y-oL-eV.  

(A) KÐV (B) qºV 

(C) BrV (D) JuV 

47. The maximum joining time for a Government Servant of Kerala, if the transfer is outside 
Kerala : 

(A) Ten (B) Twenty 

(C) Thirty (D) One 

 òsU-oLãU SWq-t-¾]jV kOr-¾L-ReË]¤ SWq-t-¾]Rs KqO y¡¨L¡ DSh|L-Y-òjV 

S^Ls]p]¤ S\qL-jOç kq-oL-vi] yopU  ————— h]v-y-oL-eV. 

(A) k¾V (B) CqO-k-fV 

(C) oOÕ-fV (D) KÐV 

48. Overstayed on joining time can not be regularized by sanctioning which kind of the following 
leaves : 

(A) Half pay leave (B) Casual leave 

(C) Earned leave (D) Commuted leave 

 S^Lp]j]UYV yo-p-¾V Ai]-W-oLp] fLo-y]-\ÿ-fV fLRuÕrpOÐ JfV fq¾]sOç s}vOW¥ 

AjOvh]\ÿO-RWLºV NWoRÕaO¾L¢ Wu]p]sæ? 

(A) zLlV Sk s}vV (B) WLx~¤ s}vV 

(C) J¦cV s}vV (D) WÚ|P-ŸaV s}vV 
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49. An officer working at the officer of Taluk TVPM, was transferred to Village Office Perembra, 
Kozhikode District on public interest, Relieved of his duties at TVPM on the AN of 
03.08.2022 Monday. 09.08.2022 was a Sunday and 11.08.2022 was a public holiday. Distance 
between TVPM to Kozhikode 414 Kms and Kozhikode to Perembra 38 Kms. When should he 
report to his duty at Perembra Office after availing maximum joining time? 

(A) 15.08.2022 FN (B) 11.08.2022 FN 

(C) 12.08.2022 FN (D) 13.08.2022 FN 

 a]v]k]IU fLsP¨V KLl}y]¤ S^Ls] R\áOÐ KqO DSh|LyòRj RkLfOfL¤kq|NkWLqU 

SWLu]S¨LaV ^]sæp]Rs SkqLNÒ v]Ssæ^V KLl}y]Ss¨V oLã]. 03.08.2022 AN f]ËtLuV\ 

a]v]k]IU Rs \OofsWt]¤ j]ÐV Ku]vLp].  09.08.2022 KqO `LprLuV\pOU  11.08.2022 jV 

RkLfO Avi]pLp]qOÐO. a]v]k]IU oOf¤ SWLu]S¨LaV vRqpOç hPqU  414 W]SsLo}ãrOU, 

SWLu]S¨LaV oOf¤ SkqLNÒ vRqpOç  hPqU 38 W]SsLo}ãrOoLeV. kqoLvi] S^Lp]j]UYV 

yopU NkSpL^jRÕaO¾]pSwxU ASÇzU ISÕLuLeV SkqLNÒ KLl}y]Rs c|PŸ]¨V 

r]SÕL¡ŸV R\SáºfV ? 

(A) 15.08.2022 FN (B) 11.08.2022 FN 

(C) 12.08.2022 FN (D) 13.08.2022 FN 

50. Seniority is reckoned based on which of the following date? 

(A) Increment (B) Passing Departmental Test 

(C) Date of Advice (D) None of these 

 fLRu-Õ-r-pOÐvp]¤ y}j]-SpL-r]-ã] We-¨L-¨O-Ð-fV  JfV f}áf]pjOyq]\ÿLeV? 

(A) C¢NW]Ro£V  (B) c]ÕL¡ŸVRo£V Rað]¤ v]^-p]-¨O-W 

(C) Dk-Shw f}áf] (D) Cv-RpL-ÐO-o-sæ 

51. Charge allowance that can be paid to an officer who hold additional charge is limited to how 
many months? 

(A) Three (B) Six 

(C) Two (D) No limit 

 Ac}xe¤ \L¡²V vz]-¨OÐ KqO DSh|L-Y-òjV j¤WL¢ Wu]-pOÐ \L¡²V Asv¢yV 

INf oLy-S¾¨V kq]-o]-f-RÕ-aO-¾]-p]-q]-¨O-ÐO?  

(A) oPÐV (B) BrV 

(C) qºV (D) kq]-i]-p]-sæ 
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52. For holding the additional charge on current duties. The charge allowance admissible is 

(A) 4% (B) 2% 
(C) 3% (D) 5% 

 j]s-v]Rs \Oo-f-s-Wt]¤ Ac}xe¤ \L¡²V RRWvwU v¨OÐf]jV AjO-v-h-j}-p-oLp 
\L¡²V Asv¢yV : 

(A) 4% (B) 2% 
(C) 3% (D) 5%  

53. In the case of Non gazetted officer holding the additional charge of a gazetted officer, whose 
authorization is necessary for the posting? 

(A) Head of office (B) Head of department 
(C) Finance department (D) Accountant General 

 YyãcV KLl}yrORa Ac}xe¤ \L¡²V vz]¨OÐ YyãcV AsæL¾ DSh|LyòR£ 
WLq|¾]¤, SkLð]UY]jV BqORa AUY}WLqU Bvw|oLeV? 

(A) KLl}yV fsv¢ (B) vWOÕV fsv¢ 

(C) ijWLq| c]ÕL¡ŸVRo£V (D) A¨Tº£V ^jr¤ 

54. Which one of the following is not eligible which an employee is under suspension? 

(A) Subsistence Allowance (B) Compensatory Allowance  
(C) Increment (D) Dearness Allowance 

 fLRu-Õ-r-pO-Ð-vp]¤ JfLeV yRy×¢xj]sLp ^}v-j-¨L-q-jV A¡z-f-p]-sæL-¾-fV?  

(A) Dk-^}-vj Asv¢yV (B) jì-k-q]-zLq Asv¢yV 

(C) C¢NW]Ro£V (D) c]p¡jôV Asv¢yV  

55. Which one of the following is not to be deducted from the subsistence allowance? 

(A) Court Attachment  
(B) Income Tax 
(C) Amount due to Co-operative Societies  
(D) Subscription to FBS 

 fLRu-Õ-r-pO-Ð-vp]¤ JfLeV Dk-^}-vj Asv¢y]¤ j]ÐO WOr-àL¢ kLa]-sæL-¾-fVV? 

(A) SWLaf] AãL-\ÿVRo£V  

(B) BhLp j]WO-f] 

(C) yz-W-qe yUZ°¥ Aa-Sàº fOW 

(D) IlV-m]-I-yV&Ss¨Oç ymVNØ]kVx¢ 
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56. The maximum period that an officer kept under suspension in normal case is : 

(A) Six months (B) One year 
(C) Two years (D) Three years 

 yLiL-qe SWyO-W-t]¤ KqO DSh|L-Y-òRj yRy×¢cV R\áOÐ oLWõ]oU k]q}cV  : 

(A) BrO- oL-yU (B) KqO v¡xU 

(C) qºO v¡xU (D)  oPÐO v¡xU 

57. As per GO (P) No. 27/2021/Fin dated 10.02.2021, all officers who draw a basic pay of rupees  
–––––––––––––– and above are treated as Grade I officer for calculation of TA. 

(A) Rs. 38,300 (B) Rs. 97,800 
(C) Rs. 70,000 (D) Rs. 66,800 

 GO (P) No. 27/2021/Fin f}áf] 10.02.2021 NkWLqU, Aa]-òL-j-w-Ò-t-U  vL°OÐ IsæL 
KLl}y¡oLqOU —————— Af]jO oOW-t]-sO-ç-vRq a]I We-¨L-¨O-Ð-f]-jOç  
SNYcV I  KLl}-y-rLp]  kq]Ye]¨RÕaOÐO.  

(A) qP. 38,300 (B) qP. 97,800 

(C) qP. 70,000 (D) qP. 66,800 

58. If an officer detained in police custody above –––––––––––––– hours, he may be suspended. 

(A) Twelve (B) Eighteen 
(C) Twenty four (D) Forty Eight 

 KqO DSh|L-Y-ò-¢ —————— oe]-¨P-rOW¥¨V oOWt]¤ SkLs}yV Wð-c]-p]-sLReË]¤ 
ApLRt yRy×¢cV R\áLU. 

(A) kNÍ-ºV (B) kf]-Rj-ŸV 

(C) CqO-k-¾]-jL-sV (D) jLs×R¾-ŸV 

59. Production of medical certificate for first appointment in service shall be from a medical 
officer not below the rank of : 

(A) Assistant surgeon  (B) Civil surgeon 
(C) Assistant professor (D) House surgeon 

 Syvj¾]Rs Bh| j]poj¾]jLp] Roc]¨¤ y¡Ÿ]l]¨ãV zL^qL¨OÐfV 
fLRuÕrpOÐ rLË]jV fLRupsæL¾ KqO Roc]¨¤ KLl}yr]¤ j]ÐLp]q]¨OU : 

(A) Ay]ð£V y¡^¢ (B) y]v]¤ y¡^¢ 

(C) Ay]ð£V RNkLly¡ (D) zTyV y¡^¢ 
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60. Officers of a department is eligible for full DA irrespective of the number of hours halted. 
Which one is that in the following? 

(A) Treasury  (B) Health  
(C) Fire and Safety  (D) Revenue  

 INf  oe]¨PrOW¥ j]¡¾]pLsOU KqO vWOÕ]Rs DSh|LYò¡¨V oOuOv¢ c]IàOU  
A¡zfpOºV. fLRuÕrpOÐvp]¤ JfLeV? 

(A) Naxr] (B) BSqLY|U 

(C) lp¡ B£V SylVã] (D) vqOoLjU 

61. As per GO(P) No. 27/2021 fin dated 10-02-2021, which among the following is the incidental 
expense of a Grade II a officer from 01-03-2021? 

(A) 70 Ps/Km (B) 90 Ps/Km 
(C) 60 Ps/Km (D) 50 Ps/Km 

 GO(P) No. 27/2021 fin dated 10-02-2021 NkWLqU fLRu-Õ-r-pO-Ð-vp]¤ SNYcV II   
DSh|L-YòR£ 01-03-2021 oOf-sOç BW-yÜ]W R\s-vL-eV : 

(A) 70 Ps/Km (B) 90 Ps/Km 
(C) 60 Ps/Km (D) 50 Ps/Km 

62. Which among the following personnels will not be covered by personal Accident Insurance 
during air travel? 

(A) Chief town planner  (B) Chief Electrical Inspector  
(C) Member of Board of Revenue  (D) Superintending Engineer  

 fLRu-Õ-r-pOÐ v|©]-Wt]¤ B¡¨LeV v]oL-j-pL-Nf-à]Ra  v|©]-Yf Ak-Wa 
C¢x|Pr¢y]R£ kq]-qƒ sn]-¨L-¾-fV? 

(A) \}lV aT¦ kæLj¡ (B) \}lV Cs-NW›]¨¤ C¢Ry×W›¡ 

(C) rvj|P SmL¡cV AUYU (D) yPNk-º]UYV Iμ]-j}p¡ 

63. Which of the following amount is admissible for loading and unloading charges of a Grade I 
officer at each end?   

(A) Rs. 900  (B) Rs. 500 
(C) Rs. 450   (D) Rs. 400 

 SNYcV I Bl}-y-rORa \L²OW¥ SsLcO R\áO-Ð-f]jOU A¦-SsLcV R\áO-Ð-f]jOU fLRu-
Õ-r-pOÐ fOW-Wt]¤ JfL-eV AjO-v-h-j}-p-oL-p]ŸO-ç-fV? 

(A) qP. 900 (B) qP. 500 

(C) qP. 450  (D) qP. 400 



DE-07/2023/009 A 
 

20

64. Which rate of hill tract allowance is admissible to an officer during his travel in class I Hilly 
tracts?  

(A) 12.5% (B) 25% 
(C) 10% (D) 20% 

 WæLôV I os-SpL-q pLNfL-Sv-tp]¤ KqO DSh|L-Y-òjV AjO-v-h-j}-p-oLp z]¤ NaLWVãV 
Asv¢y]R£ j]q¨V : 

(A) 12.5% (B) 25% 
(C) 10% (D) 20% 

65. A joint director of Fisheries Department drawing a pay of Rs. 85,000/- working in the office of 
the Director of Fisheries TVPM deputed for inspection of the district office of fisheries at 
Kozhikode. He starts journey at 9 Am on 21-03-2023 Tuesday from TVPM and reached at 
Kozhikode at 6 Pm. The return journey after his duty was at 8 Am on 26-03-2023 from 
Kozhikode to TVPM and reached at 6 Pm on the same day. No auto charges claimed by the 
officer. Distance from TVPM to Kozhikode 414 Kms by rail and II AC fare Rs. 900/- Calculate 
the TA admissible to him : 

(A) Rs. 5,173 (B) Rs. 4,945 
(C) Rs. 5,545 (D) Rs. 6,145 

 l]xr}yV vWOÕV  S^Lp]£V cprW›¡ 85,000 qPk wÒtU vL°OÐO. a].v].k].IU. l]xr}yV 
cprW›rORa KLl}y]¤ S^Ls] R\áOÐ ApL¥ SWLu]S¨LaV ^]sæL KLl}y]R£ 
kq]SwLijàLp] j]SpLY]\ÿO. 21.03.2023 R\LvÿLuV\ qLv]Rs 9 oe]¨V a]v]k]IÚ]¤ 
j]ÐV pLNf BqUn]\ÿV RRvWOSÐqU 6 oe]¨V SWLu]S¨LRŸ¾]. c|PŸ] Wu]´V oa¨pLNf 
26-03-2023 jV qLv]Rs  8 oe]¨V SWLu]S¨LaO j]ÐV  a]v]k]IU Ss¨OU ASÐ h]vyU 
RRvWOSÐqU 6 oe]¨V f]q]-R\ÿ-¾O-WpOU R\pÅO. KLl}y¡ AvWLwRÕaOÐ  KLSŸL 
\L¡²OWRtLÐOU RWæp]U R\pÅ]-sæ. a]v]k]IÚ]¤ j]ÐV SWLu]S¨LSŸ¨Oç hPqU Rrp]¤ 
oL¡«U 414 W]SsLo}ãrOU, II Iy] j]q¨V 900 BeV. AvjV AjOvhj}poLp a]I 
We¨L¨OW : 

(A) qP. 5,173 (B) qP. 4,945 

(C) qP. 5,545 (D) qP. 6,145 

66. Preparation time is not allowed in which of the following type of transfer? 

(A) On public interest  (B) On request  
(C) During promotion  (D) None of the above  

 fLRu-Õ-r-pOÐ JfO-fqU NaL¢ór]¤ Nk]Õ-Srx¢ RRaU AjO-v-h-j}-p-o-sæ?   

(A) RkLfOfL¤k-q|¾]¤ (B) An|¡Àj NkWL-qU 

(C) òLj-¨-pã yo-p-¾V (D) Cv-RpL-ÐO-o-sæ 
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67. Which one of the following is not a family member when considering transfer TA?  

(A) Son  (B) Daughter  
(C) Adoptive child (D) Brother  

 NaL¢ó¡ a].I. kq]-Y-e]-¨OSÒL¥ fLRu-Õ-r-pO-Ð-vp]¤ BRqpLeV WOaOU-mLU-Y-o-Lp]  
kq]-Y-e]-¨L-¾-fV?  

(A) oW¢ (B) oW¥ 
(C) hR¾-aO¨-RÕŸ WOŸ] (D) ySzL-hq¢ 

68. Admissibility of carrying personal effects of a Grade I officer during his transfer on public 
interest is which one of the following?  

(A) 3000 Kg (B) 2000 Kg 
(C) 1500 Kg (D) 3500 Kg 

 RkLfOfL¤k-q|-¾]-jL-pOç òsU-oLã yo-p¾V KqO SNYcV  I DSh|L-YòR£ v|©]Y-f 
Cl-WV-ãOW¥ vz]-¨L-jOç y~}WL-q|f fLRu-Õ-r-pO-Ð-vp]¤ JfL-eV?  

(A) 3000 W].NYLU (B) 2000 W].NYLU 
(C) 1500 W].NYLU (D) 3500 W].NYLU  

69. The time limit for preferring transfer TA bill is which one of the following?  

(A) Within a month  (B) Within six months  
(C) Within twelve months  (D) None of these  

 KqO NaL¢ó¡ a].I. m]sæ]-jV oO¢Y-ej jäO-Ð-f]-jOç yo-p-k-q]i] fLRu-Õ-r-pO-Ð-vp]¤ 
JfL-eV? 

(A) KqO oLy-¾]-jOç]¤ (B) BrV oLy-¾]-jO-ç]¤ 
(C) kNÍºV oLy-¾]-jOç]¤ (D) Cv-RpL-ÐO-o-sæ 

70. TA advance can be sanctioned for a Government employee at a rate of –––––––––––  of the 
admissible amount. 

(A) Full amount  (B) 75% 
(C) 50% (D) 25% 

 KqO y¡¨L¡ ^}v-j-¨L-qjV AjO-v-h-j}-p-oLp fOW-pORa  ——————— j]q¨]¤ a]I 
Ac~L¢yV AjO-v-h]-¨LU. 

(A) oOuOv¢ fOWpOU  (B) 75% 
(C) 50% (D) 25% 
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71. LTC shall be admissible during which one of the following leaves?  

(A) Casual leave  (B) Half pay leave  

(C) Special casual leave  (D) Maternity leave  

 fLRu-Õ-r-pO-Ð-vp]¤ JfV Av-i]-¨L-s-¾LeV I¤a]y] AjO-v-h]-¨O-W? 

(A) WLx~¤ s}vV (B) zLlV Sk s }vV 

(C) NkSf|W WLx~¤ s}vV (D) Nky-vL-v-i] 

72. Maximum allowable air rate for LTC shall not exceed Rs. 10,000/- upto an aerial distance of : 

(A) 3500 Km (B) 3000 Km 

(C) 2500 Km (D) 2000 Km 

 I¤a]y]àV AjOvhj}poLp kqoLvi] Ip¡ j]q¨V  ————— W].o}. vRq 

10,000 qPkp]¤ WPaL¢ kLa]sæ. 

(A) 3500 W].o}. (B) 3000 W].o}. 

(C) 2500 W].o}. (D) 2000 W].o}. 

73. An LD clerk working in Revenue Department is drawing a basic pay of Rs. 42,300 on  
01-07-2020 in the scale of pay 26500-700-27900-800-31100-900-38300-1000-42300-1100-
47800-1200-52600-1300-56500-1400-60700  was promoted as UD clerk on 01-11-2020 in the 
scale of pay 35600-900-38300-1000-42300-1100-47800-1200-52600-1300-56500-1400-60700-
1500-65200-1600-70000-1800-75400. Fix his pay as on the date of promotion :  

(A) Rs. 42,300 (B) Rs. 43,400 

(C) Rs. 45,600 (D) Rs. 44,500 

 rvj|PvWOÕ]¤ S^Ls]R\áOÐ, 42,300 qPk Aa]-òLj wÒtU vL°OÐ KqO I¤c] 

WæL¡¨]R£   01-07-2020 &Rs wÒt RØp]¤ 26500-700-27900-800-31100-900-38300-1000-

42300-1100-47800-1200-52600-1300-56500-1400-60700 BeV. 35600-900-38300-1000-42300-

1100-47800-1200-52600-1300-56500-1400-60700-1500-65200-1600-70000-1800-75400   IÐ 

wÒt RØp]s]¤ 01-11-2020 jV pOc] Wæ¡¨Lp] NkSoLx¢ sn]-\ÿO.  NkSoLx¢ f}áf]p]Rs 

wÒtU j]ép]¨OW. 

(A) qP. 42,300 (B) qP. 43,400 

(C) qP. 45,600 (D) qP. 44,500 
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74. An employee who retires on Invalid  Pension will be eligible for DCRG subject to a minimum 
–––––––––––  times of his emoluments. 

(A) Twelve (B) Ten 
(C) Fifteen  (D) Twenty five  

 C¢vL-s]-cV Rk¢xj]¤ v]qo]¨OÐ KqO ^}vj¨LqjV AvR£ wÒt¾]R£ kq-oL-vi]  

————— oa°V c]y]-B¡^]àV A¡zfpOºV. 

(A) kNÍ-ºV (B) k¾V 

(C) kf]-j-μV (D) CqO-k-¾] A-μV 

75. Qualifying service of even a day can be rounded of the next year for pension is in which of the 
following?  

(A) Twenty seven years and a day (B) Twenty nine years and a day 
(C) Twenty eight years and a day (D) None of these  

 KqO h]vyR¾ SpLY|fLSyvjU fLRuÕrpOÐvp]¤ Jf]sLeV Rk¢xjOSvº] 

AaO¾ v¡xU kP¡¾]pL¨L¢ yLi]¨OW? 

(A) CqOkS¾uO v¡xvOU KqO h]vyvOU  

(B) CqOk¾]RpLÒfO v¡xvOU KqO h]vyvOU 

(C) CqOk¾]RpŸO v¡xvOU KqO h]vyvOU 

(D) CvRpLÐOosæ 

76. Which one of the following is not come under emoluments for calculation of pension? 

(A) Pay  (B) Dearness pay  
(C) Interim relief  (D) Special pay   

 fLRuÕrpOÐvp]¤ JfLeV Rk¢x¢ We¨L¨OÐf]jOç wÒt¾]R£ kq]-i]p]¤ 

vqL¾fV? 

(A) wÒtU  (B) c]p¡jyV Sk 

(C) C¢Na]U r]s}lV  (D) Ry×x|¤ Sk  
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77. Average emoluments means the average calculated on the last –––––––––––  months of 
qualifying service. 

(A) Ten  (B) Five  

(C) Eight  (D) Twelve  

 wqLwq] wÒtU IÐL¤ Wu]´ ————— SpLY|fLSyvj¾]R£ oLy°t]¤ 

We¨L¨]p wqLwq]. 

(A) k¾V (B) AμV 

(C) IŸV (D) kNÍ-ºV 

78. In the case of press employees who are paid on  piece rate basis, the period of Average 
Emolument will be ––––––––––– months. 

(A) Ten (B) Twelve  

(C) Fifteen  (D) Twenty four  

 k}yV SrãV Aa]òLj¾]¤ wÒtU sn]¨OÐ NkôV ^}vj¨LqORa WLq|¾]¤, wqLwq] 

wÒt¾]R£ WLsptvV ————— oLy°tLp]q]¨OU 

(A) k¾V (B) kNÍ-ºV 

(C) kf]-j-μV (D) CqO-k-¾]-jL-sV 

79. Last Grade employees who entered into service on or before 07-04-1970, their age of 
retirement is ––––––––––– years. 

(A) 56 (B) 60 

(C) 55 (D) 58 

 07-04-1970 SjL Af]jO oOSÒL y¡vÿ}y]¤ NkSvw]\ÿ sLðV SNYcV ^}vj¨LqORa 

v]qo]¨¤ NkLpU —————  v¡xoLeV. 

(A) 56 (B) 60 

(C) 55 (D) 58 
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80. Which one of the following service is not count for pension? 

(A) Leave without allowance without medical certificate  

(B) Service from the age of 18 

(C) Service rendered by Governors House hold prior to 18-09-1963 

(D) Aided school service prior to entry in Government service  

 fLRuÕrpOÐ Syvj°t]¤ JfLeV Rk¢xjLp] We¨L¨L¾fV? 

(A) Roc]¨¤ y¡Ÿ]l]¨ãOU Asv¢yOU CsæL-¾ s}vV  

(B) 18 vpôOoOf¤ SyvjU 

(C) 18.09.1963 jOoOÒV Yv¡S¹uõV zTyV ja¾]p SyvjU 

(D) y¡¨L¡ ØPt]¤ NkSvw]¨OÐf]jO oOÒOç IpVccV ØP¥ SyvjU 

81. A Government officer having a basic pay of Rs. 33,900 on 01-10-2021 in the scale of pay of 
26500-650-27800-700-29900-800-33900-900-37500-1000-42500-1100-48000-1200-54000-1350-
56700 retired from service on superannuation on 31-07-2022. The date of increment is in 
every March. Calculate the Average Emolument  : 

(A) Rs. 33,900 (B) Rs. 34,800 

(C) Rs. 34,350 (D) Rs. 34,500 

 33,900 qPk Aa]òLj wÒtoOç KqO y¡¨L¡ DSh|LYòR£ wÒ-t-RØp]¤ 1.10.21 oOf¤ 
26500-650-27800-700-29900-800-33900-900-37500-1000-42500-1100-48000-1200-54000-1350-
56700 BeV. 31-07-2022 jV yPÕ¡BjO-Sv-xj]¤ y¡vÿ}y]¤ j]ÐOU v]q-o]-\ÿO. IsæL 

oL¡\ÿ]sOoLeV C¢NW]Ro£V  IË]¤ wqLwq] wÒtU We¨L¨OW.   

(A) qP. 33,900 (B) qP. 34,800 

(C) qP. 34,350 (D) qP. 34,500 

82. Minimum years of qualifying service for voluntary retirement is : 

(A) 30 years  (B) 25 years  
(C) 10 years  (D) 20 years  

 y~So-ipL v]q-o]-¨O-Ð-f]-jOç JãvOU WOr´ SpLY|-f-pOç Syv-jv¡xU 

(A) 30 v¡xU (B) 25 v¡xU 

(C) 10 v¡xU (D) 20 v¡xU 
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83. Qualifying service for minimum pension is : 

(A) Eight years  (B) Ten years  
(C) Twenty years  (D) Thirty years  

 o]j]oU Rk¢x-jOç SpLY|-fL SyvjU :  

(A) IŸV v¡xU (B) k¾O v¡xU 

(C) CqO-kfV v¡xU (D)  oOÕfV v¡xU 

84. Maximum pension that can be admissible to a pensioner as per GO(P) No. 30/2021/Fin  
dtd 12-02-2021 : 

(A) Rs. 60,000 (B) Rs. 75,000 
(C) Rs. 83,400 (D) Rs. 88,000 

 GO(P) No. 30/2021/Fin dtd 12-02-2021 NkWLqU KqO Rk¢xj¡¨V AjO-v-h-j}-p-oLp  
kq-oL-vi] Rk¢x¢ : 

(A) qP. 60,000 (B) qP. 75,000 
(C) qP. 83,400 (D) qP. 88,000  

85. Calculate the pension of an officer retired from service with the following details : 

Date of birth  :  31-07-1960 

Date of entry in services  :  23-09-1983 

Date of increment  :  Every April  

Scale of pay  :  77400-1800-81000-2000-97000-2200-108000-2400-115200 

Pay at the time of retirement : Rs. 1,10,400 

(A) Rs. 54,540 (B) Rs. 54,100 

(C) Rs. 55,200 (D) Rs. 55,800  

 y¡vÿ}y]¤ j]ÐV v]q-o]\ÿ  KqO-Sh|L-YòR£ Rk¢x¢  fLRu-Õ-r-pOÐ v]w-hLU-w°¥  
Dk-SpL-Y]\ÿV We-¨L-¨OW :  

^jj f}á-f]  :  31-07-1960 
Syv-j¾]¤ NkSv-w]\ÿ 
   f}áf]  :  23-09-1983 
C¢NW]Ro£V f}á-f]  :  IsæL JNk]-s]-sOU 
wÒt RØp]¤  :  77400-1800-81000-2000-97000-2200-108000-2400-115200 

  v]q-o]-¨OSÒL¥ keU j¤W]-pfV : qP. 1,10,400 

(A) qP. 54,540 (B) qP. 54,100 

(C) qP. 55,200 (D) qP. 55,800 
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86. Minimum qualifying service for Death-Cum-Retirement Gratuity is  

(A) Seven years  (B) Five years  

(C) Ten years  (D) Twenty years  

 Rc¾V&WU&r]Ÿp¡Ro£V NYLãO-v]-ã]-¨Oç JãvOU WOr´ SpLY|-fL Syv-jU  

(A) JuV v¡xU (B) AμV v¡xU 

(C) k¾V v¡xU (D) CqO-kfV v¡xU 

87. Commutation of pension is the advance payment of a particular portion of monthly pension 
for the ensuing ––––––––––– years . 

(A) Five (B) Seven  
(C) Ten  (D) Twelve  

 Rk¢x¢ WÚ|P-SŸ-x¢ IÐL¤ fOa¡ÐOç ———— v¡x-°-t]Rs Nkf]-oLy Rk¢xR£ 
KqO NkSf|W nLY¾]R£ oO¢WP-¡ SkRpÜ£LeVV  

(A) AμV (B) JuV 

(C) k¾V (D) kNÍºV 

88. The family pension applicable to State Government employees came into existence in which 
of the following dates?  

(A) 01-04-1964 (B) 10-04-1964 
(C) 01-04-1956 (D) 10-04-1956 

 yUòLj y¡¨L¡ ^}v-j¨L¡¨V mLi-W-oLp WOaOUm Rk¢x¢ fLRu-Õ-r-pOÐ  
JfV f}á-f]-p]sLeV  j]sv]¤v-ÐfV? 

(A) 01-04-1964 (B) 10-04-1964 
(C) 01-04-1956 (D) 10-04-1956 

89. Which one of the following is the ex-gratia pension of a pensioner having period of seven 
years of services?  

(A) Rs. 7,650 (B) Rs. 6,800 
(C) Rs. 8,250 (D) Rs. 5,100 

 JuV v¡xU Syv-j-U kP¡¾]-pL-¨]-p KqO Rk¢xjrO-Ra IWõV-SNYx| Rk¢x¢ fLRu-Õ-r-pO-
Ð-vp]¤ JfL-eV? 

(A) Rs. 7,650 (B) Rs. 6,800 
(C) Rs. 8,250 (D) Rs. 5,100 
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90. A journey on transfer is held to begin or end at –––––––––––  of the office. 

(A) Office (B) Residence 
(C) Bus stand  (D) Railway station  

 KLl}y]R£ —————¤ BqU-n]-¨O-ÐSfL Av-yL-j]-¨O-ÐSfL NaL¢ó¡ vu]-pOç KqO 
pLNf ja-¾O-ÐO.  

(A) KLl}yV (B) v}aV 
(C) môV ðL¢cV (D) Rrp]¤Sv Sðx¢ 

91. In the Medical Board, Medical Officer certify that an employee is incapacitated to continue in 
service he may be sanctioned which kind of pension? 

(A) Compensation pension  (B) Retiring pension   
(C) Superannuation pension  (D) Invalid pension  

 Roc]¨¤ SmL¡c]¤, KqO ^}v-j-¨L-qjV y¡vÿ}y]¤ fOaqL¢ Wu]-v]-RsæÐV Roc]¨¤ 
KLl}y¡ yLƒ|-RÕ-aO-¾O-ÐO. ApL¥¨V JfV  fq-¾]-sOç Rk¢x¢ AjO-v-h]-¨LU?  

(A) SWLÒ¢Syx¢ Rk¢x¢ (B) r]-Ÿp¡Ro£V Rk¢x¢ 
(C) yPÕ¡B-jO-Svx¢ Rk¢x¢ (D) C¢vL-s]cV Rk¢x¢ 

92. An officer retired from service on 31-07-2021 having a qualifying service of 32 years and 
three months. The basic pay at that time was Rs. 55,200. DA 7% calculate the DCRG : 

(A) Rs. 9,45,024 (B) Rs. 9,10,800 
(C) Rs. 9,74,556 (D) Rs. 9,85,000 

 KqO DSh|L-Yò¢, 31-07-2021 jV 32 v¡xvOU 3 oLyvOU SpLY|fL Syv-j-U kP¡¾]-pL¨] 
y¡vÿ}y]¤ j]ÐO v]q-o]-\ÿO. AÐR¾ Aa]-òLj wÒtU 55,200 qPkpOU c]I 7% DU 
BeV. IË]¤ c]y]B¡^] We-¨L-¨O-W. 

(A) qP. 9,45,024 (B) qP. 9,10,800 
(C) qP. 9,74,556 (D) qP. 9,85,000 

93. The present rate of commutation of pension is ––––––––––– % of pension. 

(A) 40% (B) 50% 
(C) 60% (D) 35% 

 Rk¢xR£ CSÕL-uR¾ WÚ|P-SŸx¢ j]q¨V Rk¢xR£ —————% BeV.  

(A) 40% (B) 50% 
(C) 60% (D) 35% 
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94. The liabilities of an employee should be quantified after retirement within a period of –––––– 
years. 

(A) Two  (B) Three 
(C) Five  (D) Seven  

 KqO ^}vj¨LqR£ mLi|fW¥ r]Ÿp¡Ro£]jOSwxU —————— v¡x¾]jOç]¤ 
We¨L¨eU. 

(A) qºV (B) oPÐV 

(C) AμV (D) JuV 

95. Calculate the amount of commutation of pension of a retired Government employee having a 
pension of Rs. 42,000 : 

(A) Rs. 22,37,760 (B) Rs. 24,19,200 
(C) Rs. 22,17,600 (D) Rs. 20,51,280 

 42,000 qPk Rk¢xjOç v]q-o]\ÿ KqO y¡¨L¡ ^}v-j-¨LqR£ WÚ|P-SŸx¢ fOW We-¨L-
¨L-¨OW :  

(A) qP. 22,37,760 (B) qP. 24,19,200 
(C) qP. 22,17,600 (D) qP. 20,51,280 

96. If an officer is promoted during leave when will he get the salary of higher post?  

(A) From the date of order  (B) Date of vacancy arises for promotion  
(C) After the expiry of leave  (D) None of these  

 KqO DSh|L-Y-òjV Av-i]-¨L-s¾V  NkSoLx¢ sn]\ÿL¤  Dp¡Ð fñ]-W-p]Rs wÒtU  
ISÕL-uLeV sn]-¨O-W?  

(A) D¾-qv]R£ f}áf] oOf¤ (B) òLj-¨-p-ã¾]R£ f}áf] 

(C) Avi] Av-yL-j]-\ÿ-f]-jO-Sw-xU (D) Cv-RpL-ÐO-o-sæ 

97. Which rule is applicable if the officiating promotions are to above the scale of 95600 - 153200 
as per pay revision order GO(P) No. 27/2021/10-02-2021? 

(A) R. 28 (B) R. 28 A 
(C) R. 31 (D) R. 37 A 

 GO(P) No. 27/2021/10-02-2021 wÒt kq]-ë-q-e D¾-qvV NkWLqU Kl}-Sx|-ã]°V  
NkSoL-x-jOW¥ 95600 – 153200 RØp]-s]jV oOW-t]-sL-ReË]¤ JfV j]poU mLi-WU? 

(A) rP¥  28 (B) rP¥  28 A 
(C) rP¥  31 (D) rP¥  37 A 
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98. If an officer is promoted to more than one post on the same day the pay of intermediary post 
is fixed as per which one of the following rules?  

(A) R. 28A (B) R. 28 
(C) R. 31 (D) R. 37A  

 KqO DSh|L-Y-òRj KSq h]vyU KÐ]-s-i]WU fñ]-W-W-t]-Ss¨V òLj-¨-pãU j¤W]pL¤  

Ca-j]s fñ]-W-pORa wÒtU fLRu-Õ-r-pOÐ j]p-o-°¥ AjO-y-q]-\ÿLeV j]é-p]-¨O-Ð-fV ? 

(A) rP¥ 28A (B) rP¥ 28 

(C) rP¥ 31 (D) rP¥ 37A 

99. Which one of the following is not count for Time Bound Higher Grade? 

(A) Period of LWA for 60 days in continuation of maternity leave  
(B) Period on LWA under appendix XII A, XII B, XII C   

(C) Period of Diesnon  

(D) Period on LWA with medical certificate  

 fLRu-Õ-r-pO-Ð-vp]¤ JfLeV RRaU mTºV  zp¡ SNYc]-Ss¨V We-¨L-¨L-¾-fV? 

(A) Nky-vL-v-i]-pORa fOa¡\ÿ-pLp] 60 h]v-y-S¾¨V I¤.c-mæ|O.-I. pORa 

WLsL-v-i] 

(B) AjO-m-ÌU XII -I, XII m], XII y] IÐ]-vàV W}u]-sOç I¤.c-mæ|O.-I.&pORa 

WLs-p-t-vV 

(C) cp-SyÔLe]R£ WLs-Z-ŸU 

(D) Roc]¨¤ y¡Ÿ]-l]-¨-ãOç  I¤.c-mæ|O.-I. pORa WLsL-v-i] 

100. Admissibility of DA if free boarding is provided while an officer on official journey : 

(A) 1/4 DA (B) 2/3 DA 
(C) 1/2 DA (D) One DA 

 KqO DSh|L-Yò¢ KTSh|L-Y]W pLNf-p]-sL-p]-q]-¨OSÒL¥ yT^-j| SmL¡c]UYV j¤W]p]ŸO-
RºË]¤ c]I-pORa y~}WL-q|f  : 

(A) 1/4 c]I (B) 2/3 c]I 

(C) 1/2 c]I (D) 1 c]I 

———————— 
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